SOLUZIONI MODULO 3

EXERCISE 1:

SCEGLI TRA “USED TO”, “BE USED TO” E “GET USED TO".
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| USED TO SPEND MY HOLIDAYS IN THE SOUTH OF FRANCE WHEN | WAS YOUNGER.

HE IS USED TO LOW TEMPERATURES BECAUSE HE’S FROM NORWAY.

MARIA USED TO HAVE LONG HAIR BUT NOW SHE DOESN’T.

| AM USED TO HAVING A CAMOMILE BEFORE GOING TO BED. IT CALMS ME.

| JUST CUT OFF MY HAIR AND | AM STILL GETTING USED TO MY NEW LOOK.

*ATTENZIONE! In questa frase usiamo “GET USED TO” al Present Continuous quindi mettiamo
I’ausiliare ESSERE + GETTING USED TO. Non confondetelo con “BE USED TO”. Sono due cose
diverse!!

AT FIRST | COULDN’T GET UP AT 6 A.M. TO GO TO SCHOOL, BUT NOW | AM USED TO IT.

I LIVE ON MY OWN NOW AND | AM GETTING USED TO DOING ALL THE HOUSEWORK. I STILL FIND
IT DIFFICULT THOUGH.

| HAVE BEEN LIVING ON MY OWN FOR YEARS NOW AND | AM USED TO DOING ALL THE
HOUSEWORK WITHOUT ANY PROBLEMS.

DID HE USE TO PLAY TENNIS WHEN HE WAS A CHILD?

10. | DIDN’T USE TO GO OUT WITH FRIENDS WHEN | WAS 12 YEARS OLD.



